

TO VALIDATE, GO TO Certificate Number: LA-COO-54923-6760a32d8f272

VERIFY.FTGS.US Date: December 16, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles
Los Angeles California 90744 United States	Destination Country Taiwan	Destination Port Taipe
Consignee	Export Date ***********************************	Exporting Carrier **********************************
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB
New Taipei City 242 Taiwan	Owner or Agent ************************************	Forwarding Agent ************************************
Buyer (Importer)	Remarks	EN COR

Consignor reference: ACE1044.WF

Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
uicy Little Thing (6.5%) - 355ml cans	91.92 kg	United States
.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans		
ropical Little Thing (7.0%) - 355ml cans	91.92 kg	United States
.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans ank Little Thing (7.5%) - 355ml cans		
ank Little Thing (7.5%) - 355ml cans	91.92 kg	United States
.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans		
azy Little Thing (6.7%) - 355ml cans	91.92 kg	United States
.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans		
azy Little Thing (6.7%) - 355ml 4x6pk case of aluminum cans US2100201	92.00 kg	United States
.S.Code: 2203.00.0000 Marks: Sierra Nevada, 10 cases		
elebration IPA (6.8%) - 355ml 4x6pk case of aluminum cans	92.00 kg	United States
.S.Code: 2203.00.0000 Marks: Sierra Nevada, 10 cases		
ryo Fresh Torpedo (7.0%) - 355ml bottles	297.60 kg	United States
.S.Code: 2203.00.0000 Marks: Sierra Nevada, 480 bottles		



Authorized Signature Farhad Ghorbani Fard

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: LA-COO-54923-6760a32d8f272

VERIFY.FTGS.US Date: December 16, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles
Los Angeles California 90744 United States	Destination Country Taiwan	Destination Port Taipe
Consignee	Export Date ************************************	Exporting Carrier **********************************
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB
New Taipei City 242 Taiwan	Owner or Agent	Forwarding Agent ************************************
Buyer (Importer)	Remarks	G#39G

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Forpedo IPA (7.2%) - 355ml bottles	297.60 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 480 bottles		
Atomic Torpedo IPA (9.2%) - 355ml bottles	297.60 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 480 bottles		
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 480 bottles Cold Torpedo (7.0%) - 355ml bottles	297.60 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 480 bottles		
Pale Ale (5.6%) - 355ml 4x6pk case of glass bottles	596.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 40 cases		
Narwhal Imperial Stout (10.2%) - 355ml 4x6pk case of glass bottles 2100201	298.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 20 cases		
Big Little Thing (9.0%) - 568ml 15pk case of aluminum cans	168.75 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 18 cases		DAMMA A
Cosmic Little Thing (8.0%) - 568ml 15pk case of aluminum cans	168.75 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 18 cases		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: LA-COO-54923-6760a32d8f272

VERIFY.FTGS.US Date: December 16, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles
Los Angeles California 90744 United States	Destination Country Taiwan	Destination Port Taipe
Consignee	Export Date ************************************	Exporting Carrier **********************************
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB
New Taipei City 242 Taiwan	Owner or Agent	Forwarding Agent ************************************
Buyer (Importer)	Remarks	G#39G



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
lazy Little Thing (6.7%) - 18.9L Steel "Sierra Nevada" Keg	2,116.50 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 85 kegs Pale Ale (5.0%) - 18.9L Steel "Sierra Nevada" Keg H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 80 kegs	1,992.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 80 kegs forpedo (7.2%) - 18.9L Steel "Sierra Nevada" Keg H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 15 kegs	373.50 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 15 kegs Celebration IPA (6.8%) - 18.9L Steel "Sierra Nevada" Keg H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 10 kegs	249.00 kg	United States
Sunny Little Thing (5.0%) - 18.9L Steel "Sierra Nevada" Keg I.S.Code: 2203.00.0000 Marks: Sierra Nevada, 10 kegs	249.00 kg	United States
PA (6.2%) - 30L Steel "Lagunitas" Keg H.S.Code: 2203.00.0000 Marks: Lagunitas, 48 kegs	1,819.20 kg	United States
lazy Wonder (6.0%) - 30L Steel "Lagunitas" Keg I.S.Code: 2203.00.0000 Marks: Lagunitas, 16 kegs	606.40 kg	United States



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: LA-COO-54923-6760a32d8f272

VERIFY.FTGS.US Date: December 16, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles
Los Angeles California 90744 United States	Destination Country Taiwan	Destination Port Taipe
Consignee	Export Date ************************************	Exporting Carrier **********************************
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB
New Taipei City 242 Taiwan	Owner or Agent	Forwarding Agent ************************************
Buyer (Importer)	Remarks	G#39G



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
urora Hoppyalis (7.0%) - 355ml 4x6pk case of aluminum cans	184.00 kg	United States
.S.Code: 2203.00.0000 Marks: Karl Strauss, 20 cases		
oat Shoes Hazy IPA (7.2%) - 355ml 4x6pk case of aluminum cans	184.00 kg	United States
I.S.Code: 2203.00.0000 Marks: Karl Strauss, 20 cases		
ower X IPA (7.3%) - 355ml 4x6pk case of aluminum cans	92.00 kg	United States
I.S.Code: 2203.00.0000 Marks: Karl Strauss, 10 cases		
ted Trolley (5.8%) - 355ml 4x6pk case of glass bottles	149.00 kg	United States
I.S.Code: 2203.00.0000 Marks: Karl Strauss, 10 cases Company C		
eanut Butter Cup Porter (5.6%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
I.S.Code: 2203.00.0000 Marks: Karl Strauss, 10 cases		
Vreck Alley Imperial Stout (9.0%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
I.S.Code: 2203.00.0000 Marks: Karl Strauss, 10 cases		
lurky Poetry (6.3%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
I.S.Code: 2203.00.0000 Marks: Karl Strauss, 10 cases		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: LA-COO-54923-6760a32d8f272 **VERIFY.FTGS.US** Date: December 16, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles
Los Angeles California 90744 United States	Destination Country Taiwan	Destination Port Taipe
Consignee	Export Date ***********************************	Exporting Carrier
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB
New Taipei City 242 Taiwan	Owner or Agent	Forwarding Agent ************************************
Buyer (Importer)	Remarks	

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Boogie Bus (6.0%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases		
Coconut Pie Face (11.7%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases		
Big Thirsty (11.0%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases		
Glitter Moon NE DIPA (8.5%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases		
Unusual Friendships (6.8%) - 473ml 6x4pk case of aluminum cans	240.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 20 cases		
Revision IPA (6.5%) - 568ml 24pk case of aluminum cans	450.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 30 cases		DAY AND THE
Revision IPA (6.5%) - 20L Plastic Keg	176.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 8 kegs		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: LA-COO-54923-6760a32d8f272

VERIFY.FTGS.US Date: December 16, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles
Los Angeles California 90744 United States	Destination Country Taiwan	Destination Port Taipe
Consignee	Export Date ***********************************	Exporting Carrier
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB
New Taipei City 242 Taiwan	Owner or Agent	Forwarding Agent ************************************
Buyer (Importer)	Remarks	



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Glitter Moon (8.5%) - 20L Plastic Keg	176.00 kg	United States
I.S.Code: 2203.00.0000 Marks: Revision Brewing, 8 kegs		
Disco Ninja Northeast-Style IPA (7.0%) - 20L Plastic Keg	176.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 8 kegs		
Jnusual Friendships (6.8%) - 20L Plastic Keg	220.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 kegs		
Hard Lemonade Mango (6.9%) - 355ml 4x6pk case of aluminum cans	92.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Stem Ciders, 10 cases	XXXXXX XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
Pear (5.3%) - 355ml cans Accredited Chamber US2100201	61.28 kg	United States
H.S.Code: 2203.00.0000 Marks: Stem Ciders, 160 cans		
Hibiscus (4.3%) - 355ml cans	61.28 kg	United States
H.S.Code: 2203.00.0000 Marks: Stem Ciders, 160 cans		
Real Dry (6.8%) - 355ml cans	61.28 kg	United States
H.S.Code: 2203.00.0000 Marks: Stem Ciders, 160 cans		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: LA-COO-54923-6760a32d8f272

VERIFY.FTGS.US Date: December 16, 2024

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles Global Craft Trading, Inc. 901 East E Street **Destination Country Destination Port** Los Angeles Taiwan Taipe California 90744 **United States** Exporting Carrier **Export Date** Consignee White Fox Global Co. Ltd. Import Permit Number Bill of Lading / AWB No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242 Owner or Agent Forwarding Agent Taiwan Remarks Buyer (Importer)

Consignor reference: ACE1044.WF

	123	30
7,3	T	82
Νů	.	
		Ð

Weight Country of Origin (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) Chile Guava (5.2%) - 355ml 6x4pk case of aluminum cans 92.00 kg **United States** H.S.Code: 2203.00.0000 Marks: Stem Ciders, 10 cases Chile Guava (5.2%) - 20L Plastic Keg **United States** 198.00 kg H.S.Code: 2203.00.0000 Marks: Stem Ciders, 9 kegs Real Dry (6.8%) - 20L Plastic Keg 110.00 kg **United States** H.S.Code: 2203.00.0000 Marks: Stem Ciders, 5 kegs Raspberry (6.7%) - 20L Plastic Keg 88.00 kg **United States** H.S.Code: 2203.00.0000 Marks: Stem Ciders, 4 kegs Hibiscus (4.3%) - 20L Plastic Keg Coredited Chamber US2100201 **United States** 44.00 kg H.S.Code: 2203.00.0000 Marks: Stem Ciders, 2 kegs United States The Coachman (4.9%) - 355ml 4x6pk case of aluminum cans 92.00 kg H.S.Code: 2203.00.0000 Marks: Societe Brewing, 10 cases The Harlot (5.7%) - 355ml 4x6pk case of aluminum cans 82.80 kg **United States** H.S.Code: 2203.00.0000 Marks: Societe Brewing, 9 cases



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: LA-COO-54923-6760a32d8f272 **VERIFY.FTGS.US** Date: December 16, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles
Los Angeles California 90744 United States	Destination Country Taiwan	Destination Port Taipe
Consignee	Export Date ************************************	Exporting Carrier **********************************
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB ************************************
New Taipei City 242 Taiwan	Owner or Agent ************************************	Forwarding Agent ************************************
Buyer (Importer)	Remarks	同步305回

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
The Pupil (7.5%) - 355ml 4x6pk case of aluminum cans	92.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Societe Brewing, 10 cases		
Bulbous Flowers (7.0%) - 355ml 4x6pk case of aluminum cans	92.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Societe Brewing, 10 cases The Butcher (9.666%) - 355ml 6x4pk case of aluminum cans		
The Butcher (9.666%) - 355ml 6x4pk case of aluminum cans	92.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Societe Brewing, 10 cases		
Jnknown Depths WC IPA (7.2%) - 473ml 6x4pk case of aluminum cans	240.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Societe Brewing, 20 cases		
The Pupil (7.5%) - 568ml 12pk case of aluminum cans per US2100201	150.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Societe Brewing, 20 cases		
The Coachman (4.9%) - 20L Plastic Keg	154.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Societe Brewing, 7 kegs		DAVA MARKA
Bulbous Flowers (7.0%) - 20L Plastic Keg	154.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Societe Brewing, 7 kegs		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: LA-COO-54923-6760a32d8f272

VERIFY.FTGS.US Date: December 16, 2024

Seller (Exporter) Global Craft Trading, Inc.	Transport Type Vessel	Port of Loading Los Angeles
901 East E Street Los Angeles	Destination Country	Destination Port
California 90744	Taiwan	Taipe
United States	Export Date	Exporting Carrier
Consignee	*******	
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB
New Taipei City 242 Taiwan	Owner or Agent	Forwarding Agent ************************************
Buyer (Importer)	Remarks	

Consignor reference: ACI	E1044.WF	
Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
he Dunit (7.59) 201 Pleatic Kee	122.00 kg	United Ctates

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
The Pupil (7.5%) - 20L Plastic Keg	132.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Societe Brewing, 6 kegs		
Mario Tart: Hibiscus Hideaway Sour Ale (6.3%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 10 cases		
Conan The Barbeerian (4.9%) - 473ml 6x4pk case of aluminum cans	180.00 kg	United States
H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 15 cases		
Download Complete WC IPA (6.9%) - 473ml 6x4pk case of aluminum cans	180.00 kg	United States
H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 15 cases F ORIGIN		
Ghost of Brewshima (7.1%) - 473ml 6x4pk case of aluminum cans ₅₂₁₀₀₂₀₁	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 10 cases		
God Of Pour (7.1%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 10 cases		XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
True Brewmance WC IPA (7.1%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 10 cases		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

Buyer (Importer)

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: **LA-COO-54923-6760a32d8f272**

VERIFY.FTGS.US Date: December 16, 2024

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles Global Craft Trading, Inc. 901 East E Street **Destination Country Destination Port** Los Angeles Taiwan Taipe California 90744 **United States** Exporting Carrier **Export Date** Consignee White Fox Global Co. Ltd. Bill of Lading / AWB Import Permit Number No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242 Forwarding Agent Owner or Agent Taiwan

Remarks

Consignor reference: ACE1044.WF



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Chateau De La Dank DDH WC DIPA (8.0%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 10 cases		
Octopus Arcade (7.1%) - 473ml 6x4pk case of aluminum cans	240.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Beachwood, 20 cases		
Adventures of Lucky & Cheeky (7.0%) - 473ml 6x4pk case of aluminum cans	240.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Beachwood, 20 cases		
======================================	=====	
CERTIFICATE OF ORIGIN		
GAAMBERS FEDERATION		



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

The information in this certificate and in any documents provided to the Los Angeles Area Chamber of

Commerce ("LAACC") is accurate, true and complete.

The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing

of any inaccuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.

-The Applicant is authorized to give the undertakings set out herein.

901 East E Street, Suite 201 Wilmington, CA 90744

Invoice

Date	Invoice #	
11/11/2024	ACE1044.WF-	

Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan Ship To

White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242, Taiwan

P.O. No.	Terms	Project
	Due on receipt	

MPN	Description	Invoiced	Rate	Amount
Sierra Nevada	Hazy Variety Pack - 355ml 2x12pk case of aluminum cans:			
Sierra Nevada	Juicy Little Thing (6.5%) - 355ml cans	240	1.20417	289.00
Sierra Nevada	Tropical Little Thing (7.0%) - 355ml cans	240	1.20417	289.00
Sierra Nevada	Dank Little Thing (7.5%) - 355ml cans	240	1.20417	289.00
Sierra Nevada	Hazy Little Thing (6.7%) - 355ml cans	240	1.20417	289.00
Sierra Nevada	Hazy Little Thing (6.7%) - 355ml 4x6pk case of aluminum cans	10	28.90	289.00
Sierra Nevada	Celebration IPA (6.8%) - 355ml 4x6pk case of aluminum cans	10	25.05	250.50
Sierra Nevada	Torpedo Variety Pack - 355ml 2x12pk case of glass bottles:			
Sierra Nevada	Cryo Fresh Torpedo (7.0%) - 355ml bottles	480	1.2375	594.00
Sierra Nevada	Torpedo IPA (7.2%) - 355ml bottles	480	1.2375	594.00
Sierra Nevada	Atomic Torpedo IPA (9.2%) - 355ml bottles	480	1.2375	594.00
Sierra Nevada	Cold Torpedo (7.0%) - 355ml bottles	480	1.2375	594.00
Sierra Nevada	Pale Ale (5.6%) - 355ml 4x6pk case of glass bottles	40	25.85	1,034.00
Sierra Nevada	Narwhal Imperial Stout (10.2%) - 355ml 4x6pk case of glass bottles	20	42.55	851.00
Sierra Nevada	Big Little Thing (9.0%) - 568ml 15pk case of aluminum cans	18	28.75	517.50
Sierra Neavda	Cosmic Little Thing (8.0%) - 568ml 15pk case of aluminum cans	18	28.75	517.50
Sierra Nevada	Hazy Little Thing (6.7%) - 18.9L Steel "Sierra Nevada" Keg	85	69.10	5,873.50
Sierra Nevada	Pale Ale (5.0%) - 18.9L Steel "Sierra Nevada" Keg	80	61.15	4,892.00
Sierra Nevada	Torpedo (7.2%) - 18.9L Steel "Sierra Nevada" Keg	15	65.20	978.00
Sierra Nevada	Celebration IPA (6.8%) - 18.9L Steel "Sierra Nevada" Keg	10	61.15	611.50
Sierra Nevada	Sunny Little Thing (5.0%) - 18.9L Steel "Sierra Nevada" Keg	10	69.10	691.00
	Sierra Nevada Chico Facade Beer Holder	100	0.75	75.00
	Sierra Nevada SNBC Trail Beer Holder	100	0.90	90.00
	Sierra Nevada Neon Sign	2	85.45	170.90
	Sierra Nevada Pint Glass (24/cs)	4	24.25	97.00

Total

Payments/Credits

Balance Due





901 East E Street, Suite 201 Wilmington, CA 90744

Invoice

Date	Invoice #	
11/11/2024	ACE1044.WF-	

Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan Ship To

White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242, Taiwan

P.O. No.	Terms	Project
	Due on receipt	

MPN	Description	Invoiced	Rate	Amount
Lagunitas	IPA (6.2%) - 30L Steel "Lagunitas" Keg	48	80.50	3,864.00
Lagunitas	Hazy Wonder (6.0%) - 30L Steel "Lagunitas" Keg	16	96.00	1,536.00
Karl Strauss	Aurora Hoppyalis (7.0%) - 355ml 4x6pk case of aluminum cans	20	37.50	750.00
Karl Strauss	Boat Shoes Hazy IPA (7.2%) - 355ml 4x6pk case of aluminum cans	10	37.50	375.00
Karl Strauss	Boat Shoes Hazy IPA (7.2%) - 355ml 4x6pk case of aluminum cans	10	30.00	300.00
Karl Strauss	Tower X IPA (7.3%) - 355ml 4x6pk case of glass aluminum cans	10	37.50	375.00
Karl Strauss	Red Trolley (5.8%) - 355ml 4x6pk case of glass bottles	10	35.50	355.00
Karl Strauss	Peanut Butter Cup Porter (5.6%) - 473ml 6x4pk case of aluminum cans	10	66.50	665.00
Karl Strauss	Wreck Alley Imperial Stout (9.0%) - 473ml 6x4pk case of aluminum cans	10	66.50	665.00
Karl Strauss	Murky Poetry (6.3%) - 473ml 6x4pk case of aluminum cans	10	56.00	560.00
Revision Brewing	Boogie Bus (6.0%) - 473ml 6x4pk case of aluminum cans	10	65.50	655.00
Revision Brewing	Coconut Pie Face (11.7%) - 473ml 6x4pk case of aluminum cans	10	130.50	1,305.00
Revision Brewing	Big Thirsty (11.0%) - 473ml 6x4pk case of aluminum cans	10	78.50	785.00
Revision Brewing	Glitter Moon NE DIPA (8.5%) - 473ml 6x4pk case of aluminum cans	10	72.00	720.00
Revision Brewing	Unusual Friendships (6.8%) - 473ml 6x4pk case of aluminum cans	20	65.50	1,310.00
Revision Brewing	Revision IPA (6.5%) - 568ml 24pk case of aluminum cans	30	75.50	2,265.00

Total

Payments/Credits

Balance Due





901 East E Street, Suite 201 Wilmington, CA 90744

Invoice

Date	Invoice #		
11/11/2024	ACE1044.WF-		

Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan Ship To

White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242, Taiwan

P.O. No.	Terms	Project
	Due on receipt	

MPN	Description	Invoiced	Rate	Amount
Revision Brewing	Revision IPA (6.5%) - 20L Plastic Keg	8	92.00	736.00
Revision Brewing	Glitter Moon (8.5%) - 20L Plastic Keg	8	118.00	944.00
Revision Brewing	Disco Ninja Northeast-Style IPA (7.0%) - 20L Plastic Keg	8	105.00	840.00
Revision Brewing	Unusual Friendships (6.8%) - 20L Plastic Keg	10	111.50	1,115.00
Stem Ciders	Hard Lemonade Mango (6.9%) - 355ml 4x6pk case of aluminum cans	10	36.00	360.00
Stem Ciders	Mix Pack - 355ml 4x6pk case of aluminum cans:			
Stem Ciders	Pear (5.3%) - 355ml cans	160	1.60419	256.67
Stem Ciders	Hibiscus (4.3%) - 355ml cans	160	1.60419	256.67
Stem Ciders	Real Dry (6.8%) - 355ml cans	160	1.60419	256.67
Stem Ciders	Chile Guava (5.2%) - 355ml 6x4pk case of aluminum cans	10	44.50	445.00
Stem Ciders	Chile Guava (5.2%) - 20L Plastic Keg	9	114.00	1,026.00
Stem Ciders	Real Dry (6.8%) - 20L Plastic Keg	5	106.50	532.50
Stem Ciders	Raspberry (6.7%) - 20L Plastic Keg	4	114.00	456.00
Stem Ciders	Hibiscus (4.3%) - 20L Plastic Keg	2	106.50	213.00
Societe Brewing	The Coachman (4.9%) - 355ml 4x6pk case of aluminum cans	10	43.50	435.00
Societe Brewing	The Harlot (5.7%) - 355ml 4x6pk case of aluminum cans	9	39.50	355.50
Societe Brewing	The Pupil (7.5%) - 355ml 4x6pk case of aluminum cans	10	42.00	420.00
Societe Brewing	Bulbous Flowers (7.0%) - 355ml 4x6pk case of aluminum cans	10	42.00	420.00
Societe Brewing	The Butcher (9.666%) - 355ml 6x4pk case of aluminum cans	10	56.50	565.00
Societe Brewing	Unknown Depths WC IPA (7.2%) - 473ml 6x4pk case of aluminum cans	20	64.00	1,280.00
Societe Brewing	The Pupil (7.5%) - 568ml 12pk case of aluminum cans	20	32.00	640.00

Total

Payments/Credits

Balance Due





901 East E Street, Suite 201 Wilmington, CA 90744

Invoice

Date	Invoice #	
11/11/2024	ACE1044.WF-	

Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan

Ship To

White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242, Taiwan

P.O. No.	Terms	Project
	Due on receipt	

MPN	Description	Invoiced	Rate	Amount
Societe Brewing	The Coachman (4.9%) - 20L Plastic Keg	7	99.00	693.00
Societe Brewing	Bulbous Flowers (7.0%) - 20L Plastic Keg	7	118.50	829.50
Societe Brewing	The Pupil (7.5%) - 20L Plastic Keg	6	118.50	711.00
8 Bit Brewing	Mario Tart: Hibiscus Hideaway Sour Ale (6.3%) - 473ml 6x4pk case of aluminum can	10	103.00	1,030.00
8 Bit Brewing	Conan The Barbeerian (4.9%) - 473ml 6x4pk case of aluminum cans	15	90.00	1,350.00
8 Bit Brewing	Download Complete WC IPA (6.9%) - 473ml 6x4pk case of aluminum cans	15	90.00	1,350.00
8 Bit Brewing	Ghost of Brewshima (7.1%) - 473ml 6x4pk case of aluminum cans	10	90.00	900.00
8 Bit Brewing	God Of Pour (7.1%) - 473ml 6x4pk case of aluminum cans	10	90.00	900.00
8 Bit Brewing	True Brewmance WC IPA (7.1%) - 473ml 6x4pk case of aluminum cans	10	83.50	835.00
8 Bit Brewing	Chateau De La Dank DDH WC DIPA (8.0%) - 473ml 6x4pk case of aluminum cans	10	90.00	900.00
Beachwood	Octopus Arcade (7.1%) - 473ml 6x4pk case of aluminum cans	20	71.00	1,420.00
Beachwood	Adventures of Lucky & Cheeky (7.0%) - 473ml 6x4pk case of aluminum cans	20	71.00	1,420.00

Total \$60,846.91



Payments/Credits Balance Due \$60,846.91

\$0.00